
Introduction to Science: Test Class D. October 22 , 2006 
 
1. Why is it so difficult to show in an experiment that there is a gravitation force between two 
bodies on Earth?  
Which effects of gravitation are well visible on Earth? 
 
 

 
 
2. A monk began running and we measured how far he had run after  1, 2, 3, 4, 5 seconds. We 
recorded the data in this table: 
 

Time in seconds  1 2 3 4 5 6 
Distance run in 
meters 

4 12 23 30 36 40 

  
• Graph these data.  
• Write a short comment (what does the graph tell us?) 
• How will the graph continue, when the monk slows down and stops 2 seconds after he reached 

the mark 40 m? 
  
 

3. Look at the point A which is given here. Draw a horizontal line AB of length 11 cm, beginning 
in point A, going to the right of A.  
Now in A draw a line which is perpendicular to AB and having a length of 4cm. Let us call its 
end point D. 
Now in B draw a line which makes an angle of 110° with the line AB. This line has a length of 
7cm and it ends in a point we call C. 
Now you have a figure ABCD. Find all the four angles of this figure.  
Find the approximate area of this figure 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

           A  . 

 
 

4.   The diameter of the wheel of a car is 60 cm.  How far does the car move when the wheel 
makes 12 turns? (give result in meters) 
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1  hPôÅ-qô-GZÛÅ-ˆÛ-hz¼-ºfïm-Á ÝGÅ-»ôh-q-hï-zdG-hrh-ˆÛ-¾¤-mÅ-Çeôm-Mã¼-ÁÛm-bà-h;º-zºÛ-Mã-¤±m-GP-

»Ûm-m¤ü     º²¤-JÀÛP-mP-¤Pôm-GÅ¾-Vï-zºÛ-!ºfïm-Á ÝGÅ-ˆÛ-Á ÝGÅ-Aïm-n¤Å-GP-hP-GP-»Ûm-m¤ü 
 
2 hGï-ºh Ým-q-ŸÛG-zP-MãG-GbôP-Ç+zÅ-P-±ôÅ-Ç+¼-V- 1 mÅ- 5 »!Û-z¼-Ç+¼-V-¼ ï-¼ ï-xÛm-qºÛ-XïÅ-Å Þ-DôP-GÛÅ-

MP-fP-G-±ôh-zBôh-»ôh-q-±h-ºW¾-mÅ-GÁ¤-HÛ-¼ ïº Þ-¤ÛG-mP-z;ôh-»ôhü    
h ÝÅ-» Þm-Ç+¼-VºÛ-mP-ü 1 2 3 4 5 6 

MP-fG-zBôh-qü 4 12 23 30 36 40 

   
 � IPÅ-fô-ºhÛ-±ô¼-Gô-dôGÅ-hqï-¼ ÛÅ-ÁÛG-ƒÛÅü 
 � hqï-¼ ÛÅ-ºhÛÅ-G-¼ ï-ÁôÅ-ˆÛ-ºh ÝG-G¤ü Åô-ÅôºÛ-zÅ¤-±ß¾-¤hô¼-zÇkÝÅ-ÁÛG-ƒÛÅü 

� MP-fG-¤Û-‡¼- 40 zBôh-XïÅ-DôP-GÛÅ-Ç+¼-V- 2 XïÅ-Å Þ-zP-MG-hï-G-¾ ï¼-¤±¤Å-ºWôG-‚ïh-q-
»Ûm-m-hqï-¼ ÛÅ-hï-WÛ-¿e¼-¤ Þ-¤f Þh-hGôÅ-Å¤ü 

 
 

3 ºhÛ¼-vh-qºÛ-±ïG A mÅ-G»Å-xôGÅ-Å Þ-Åïm-‡Û-¤Û-‡¼- 11 ‚Å-qºÛ-ºyïh-fÛG- AB ŸïÅ-q-ŸÛG-ºfïmü    
h- A mÅ- AB ¾- (perpendicular) »Ûm-qºÛ-fÛG-h Ý¤-Åïm-‡Û-¤Û-‡¼- 4 ‚Å-q-ŸÛG-ƒÛ-hGôÅü fÛG-h Ý¤-
ºhÛºÛ-ºWâG-Çoï-¾-±ïG- D ŸïÅ-ºzôh-hGôÅü »P- B mÅ-fÛG-ÁÛG-ºfïm-bï- AB hP-fÛG-hïºÛ-hz¼-¸ Þ¼-±h- 
1100 ¸ô-Mãü fÛG-h Ý¤-ºhÛºÛ-¼ ÛP-±h-  7cm hP-hïºÛ-ºWâG-Çoï-¾-±ïG- C ŸïÅ-ºzôhü h-Eïh-¼P-¾-hqï-¼ ÛÅ- 
ABCD ŸïÅ-q-ŸÛG-»ôhü hqï-¼ ÛÅ-hïºÛ-¸ Þ¼-zŸÛºÛ-¸ Þ¼-±h-±ô¾ü hqï-¼ ÛÅ-hïºÛ-M-Eôm-±ô¾ü 

 
 
 
 
   
 
 
 

A  . 
  
4 ÇoÝ¤-ºDô¼-ŸÛG-GÛ-ºDô¼-¾ ôºÛ-±PÅ-fÛG 60cm »Ûmü ºDô¼-¾ ô-hïºÛ-Ç+ô¼-z- 12 ¾-ÇoÝ¤-ºDô¼-hï-MP-fG-WÛ-®¤-

Å¼-ÇÀïzÅ-»ôh-h¤ü 
 


